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Web application

Figure 1 shows a screenshot of the web application used to retrieve the data
from the raters. It gives an idea of the procedure used to collect the dataset.
Recall from the main text that the values appeared randomly on the screen
for every company and rater, therefore avoiding possible biases caused by
raters focusing only on the first shown values.

Please, fillin the following form according to your own interpretation of the meaning of values.

You have a pool of 10 points to assign as you wish to the values in a proportion that you consider. Only integers are accepted.

Your 10 points can be assigned freely. For example, in one extreme you can assign your 10 points to a single value. In the other extreme you can select 10 different values and assign them 1 single point each.
The assignation is strict in the sense that no more or no less than 10 points assigned are accepted.
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Figure 1: Web application used to gather
the values of each case by the raters.



Values and groups

Table 1 presents the individual values and the group to which they belong
to.

Group

Value

Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Economic-Pragmatic
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Emotional-Developmental
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social
Ethical-Social

Competitiveness
Economic Success
Economic growth
Efficacy

Efficiency

Fulfilling objectives
Getting results
Order-Organization
Pragmatism
Productivity
Creative energy
Emotional Empathy
Enthusiasm
Happiness
Imagination
Passion

Pursuit of health
Serenity
Warmth-Affection
Work-Life enjoyment
Conscientiousness
Dignity

Equity

Faithfulness
Generosity

Honesty

Loyalty

Respect for natural environment
Respect for people
Social compromise

Table 1: Values and dimension to which
they belong to.



Code

The JAGS code for the model is the following.

model {
# Observational part
for (o in 1:nO.wide) {
for (g in l:nGroups) {
y[o,g] ~ dt(theta[id.case[o],g] + omega[id.rater[o],g]l, tau[gl, nul[gl)
}
}
for (g in 1l:nGroups) {
taul[g] <- pow(sigma[g]l, -2)
sigma[g] ~ dunif(e, 0.5)
nulg] <- 1 / nu.inv[g] # Gelman style
nu.inv[g] ~ dunif(o, 1)
}
# Measurement part
for (c in 1l:nCases) {
thetal[c,1:3] ~ ddirch(c(1, 1, 1))
}
for (r in l:nRaters) {
for (g in 1:nGroups) {
omegal[r,g] ~ dnorm(0, tau.omegalr])
}
tau.omega[r] <- pow(sigma.omegalr], -2)
sigma.omegal[r] ~ dgamma(l, lambda[rater.type[r]])
}
# Rate
lambda[2] <- 10
lambda[1] <- lambda[2] * rho
rho <- exp(rho.log)
rho.log ~ dunif(-2, 2)

Convergence tests

This section includes Bayesian convergence tests for all parameters in the
model. It employs the function ggmeme () from R’s package ggmeme.
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0- 1 1 1 1
0.0 0.1 0.2 0.3 0.4
sigma.omega[2]
0.2 0.3 0.4
sigma.omega[3]
15-
10-
5 -
0 = 1 1 1
0.1 0.2 0.3
sigma.omega[4]
9 -
6 -
3- .
S, 0- . ; ; Chain
= 0.0 0.2 0.4 0.6
@ 1
% sigma.omega[5] | 2
6 -
4 -
2 -
0 = 1 1
0.4 0.6
sigma.omega[6]
10.0-
7.5-
5.0-
2.5-
00 = 1 1
0.4 0.6
sigma.omega[7]
10-
5 -
0- 1 1 1 1 1 1
0.0 0.1 0.2 0.3 0.4 0.5
sigma.omega[8]
016 019
sigma.omegal9]
0.50 0.75

value



density

oNOINO

oNagIN

sigma.omega[11]

2 -
1 -
0 = 1 1
0.0 0.5 1.0
sigma.omega[12]
12-
8 -
4 -
0- 1 1 1 1 1
0.0 0.1 0.2 0.3 0.4
sigma.omega[13]
8 -
6 -
4 -
2 -
0- 1 1
0.50 0.75
sigma.omega[14]
0 -
5 -
O -
5 -
0 = 1 1
0.2 0.4
sigma.omega[15]
5 -
0 -
5 -
0- 1 1 1 1 1
0.0 0.1 0.2 0.3 0.4
sigma.omega[16]
15-

0.2 0.3 0.4

sigma.omega[17]

0.3 0.4
theta[1,1]

1
0.4 0.5 0.6 0.7 0.8
theta[2,1]

0.2 0.3 0.4 0.5 0.6
theta[3,1]

ON PO

0.5 0.9

value

0.5

0.5




densit

theta[10,1]

0.2 0.3 0.6 0.7

theta[11,1]

0.2 03 0.4 05 06
theta[12,1]

6_
4 -
2-
0- 1 1 1 1
0.3 0.4 0.5 0.6 0.7 0.8

theta[13,1]

6_
4-
2_
0- 1 1

0.4 0.5 0.6 0.7 0.8
theta[4,1]

0.2 0.5

theta[5,1] )

0.1 0.2 0.3 0.4 0.5

theta[6,1]

0.2 0.3 0.4 0.5 0.6 0.7

theta[7,1]

1
0.2 0.3 0.4 0.5 0.6
theta[8,1]

0.4 0.5 0.6 0.7 0.8
theta[9,1]

0.2 0.6 0.7

value



density

theta[14,1]

0.2 0.3 0.4 0.5 0.6
theta[15,1]

theta[16,1]

0 = 1 1
0.4 0.6 0.8

theta[17,1]

0.6
theta[18,1]

theta[19,1] )

0.3 0.4 0.5 0.6 0.7
theta[20,1]

00 01 02 03 0.4
theta[21,1]

0.2 0.3 0.4 0.5 0.6
theta[22,1]

0.1 0.2 0.3 0.4 0.5
theta[23,1]

value



theta[24,1]

0.3 0.4 0.5 0.6 0.7
theta[25,1]

6-
4-
2_
O_

02 03 04 05 06 07
theta[26,1]

1
0.2 0.3 0.4 0.5 0.6
theta[27,1]

6 -
4-
2-
0-

02 03 0.4 05 06

theta[28,1]

theta[29,1] B

0 = 1 1 1
0.4 0.5 0.6 0.7 0.8

theta[30,1]

6 -
4-
2-
0-

03 0.4 05 06 0.7

theta[31,1]

0.6 0.7 0.8 0.9 1.0
theta[32,1]

6-
4-
2_
0-

0.2 0.3 0.4 0.5 0.6

theta[33,1]

value



density

theta[1,2]

0.1 0.2 0.3
theta[2,2]

0.3
theta[3,2]

0- 1 1 1 1
0.1 0.2 0.3 0.4

theta[34,1]

6 -
4-
2-
0-

0.4 05 06 07 08

theta[35,1]

theta[36,1] |

0 = 1 1 1
04 0.6 0.8

theta[37,1]

6 -
4 -
2 -
0- 1
0.4 0.5 0.6 0.7 0.8
theta[4,2]

0.2 0.3 0.4 0.5
theta[5,2]

0 = 1 1
0.1 0.2 0.3 04

theta[6,2]

0.5

value



theta[10,2]

0 = 1
0.1 0.2 0.3

theta[11,2]

0- 1 1 1
0.1 0.2 0.3 0.4 0.5

theta[12,2]

0.4

0.6

0.1 0.2 0.3
theta[13,2]

01 02 03
theta[14,2]

0.1

theta[15,2]

0.4

0.0 0.1 0.2 0.3

theta[16,2]

0.4

theta[7,2]

0.6

0.2 0.3 0.4 0.5 0.6
theta[8,2]

theta[9,2]

0.3

value




density

theta[17,2]

0.3 0.4 0.5 0.6 0.7
theta[18,2]

0.0 0.1 0.2 0.3
theta[19,2]

0.1 0.2 0.3 0.4 0.5
theta[20,2]

0.6
theta[21,2]

0.1 0.4

theta[22,2] )

0.2 0.3 0.4 0.5 0.6
theta[23,2]

0.1 0.2 0.3 0.4 0.5
theta[24,2]

0.1 0.2 0.3 0.4 0.5
theta[25,2]

0 = 1 1 1
0.1 0.2 0.3 0.4

theta[26,2]

0.3 0.4
value



theta[27,2]

0.3 0.4 0.5 0.6
theta[28,2]

0.3

theta[29,2]

0.1 0.2 0.3 0.4 0.5
theta[30,2]

theta[32,2] )

0.0- 1 1 1 1
0.0 0.1 0.2 0.3

theta[33,2]

7.5-
5.0-
2.5~
0.0-

0.1 012 0.3 0.4
theta[34,2]

theta[36,2]

value



density

theta[1,3]

8-
6-
4 -
2 -
0- 1 1 1 1
0.1 0.2 0.3 0.4
theta[2,3]
6-
4 -
2-
0- 1 1 1 1
0.3 0.4 0.5 0.6
theta[3,3]
15-
10-
5-
0- 1 1 1 1
0.00 0.05 0.10 0.15 0.20
theta[37,2]
8 -
6-
4 -
2" A
0- 1 1 1 1
0.0 0.1 0.2 0.3
theta[4,3]
8 -
6 -
4 -
2" A
0 = 1 1 1
0.2 0.3 0.4
theta[5,3]
6 -
4 -
2-
0 = 1 1 1
0.3 0.4 0.5 0.6 0.7
theta[6,3]
8 -
6 -
4 -
2 -
0 = 1
0.1 0.2 0.3 0.4
theta[7,3]
6 -
4 -
2-
0- 1 1 1 1 1
0.0 0.1 0.2 0.3 0.4
theta[8,3]
8 -
6
4 -
2 -
0 = 1
0.1 0.2 0.3 0.4
theta[9,3]

value

0.5




density

theta[10,3]

0.5

theta[11,3]

0.1 0.2 0:3 0.4 0.5
theta[12,3]

0.1 0.4

theta[13,3]

0.0 0.1 0:2 0.3
theta[14,3]

02 03 0.4 05 06
theta[15,3]

6_

4 -

2_

O' 1 1

0.2 0.3 0.4 0.5 0.6

theta[16,3]

00 01 02 03
theta[17,3]

theta[18,3]

0.2 0.5

theta[19,3]

0.3 0.4

value




theta[20,3]

6 -

4-

2 -

0- 1 1 1 1

0.3 0.4 0.5 0.6 0.7
theta[21,3]

8 -

: A

4-

2 -

0- 1 1 1 1 1

0.2 0.3 0.4 0.5 0.6
theta[22,3]

8 -

6 -

4-

2 -

0- 1 1 1

0.1 0.2 0.3 0.4
theta[23,3]

8 -

6 -

4-

2- A

0- 1 1 1 1

0.0 0.1 0.2 0.3
theta[24,3]

8 -

4-

2- .
5. 0- . : . Chain
= 0.0 0.1 0.2 0.3
2 1
q.) =
S, theta[25,3] 2

6 -

4-

2 -

0- 1 1 1

0.2 0.3 0.4 0.5 0.6
theta[26,3]

6 -

4-

2 -

0- 1 1 1 1 1

0.2 0.3 0.4 0.5 0.6
theta[27,3]

8 -

6 -

4-

2 -

0- 1 1

0.1 0.2 0.3 0.4
theta[28,3]

8 -

: A

4-

2 -

0- 1 1 1 1

0.3 0.4 0.5 0.6
theta[29,3]

6 -

4-

2 -

O -

value



0.3

0.4

theta[30,3]

0.4

0.5

0.2

0.2

0.1

0.4
theta[31,3]
theta[32,3]
0.5 0.6 0.7
theta[33,3]
. : . Chain
0.6 0.7 0.8
1
theta[34,3] | 2

0.3 0.4 0.5
theta[35,3]

0:3 0.4 0.5
theta[36,3]

0.2
theta[37,3]

0.4

0.4

value



value

lambda[1]

40 -
30-
20-
10-
101000 101500 102000 102500 103000
lambda[2]
10-
5 -
0 = 1 1 1 1 1
101000 101500 102000 102500 103000
lambda[3]
10.0-
7.5-
5.0-
2.5-
OO = 1 1 1 1 1
101000 101500 102000 102500 103000
nu[1]
60000 -
40000 -
20000 -
0 . ; : I Al : P i : L " [l .
101000 101500 102000 102500 103000
nu[2]
150 -
100 -
58 : PO al. o .J_A e 1. b " Jom ~L A
101000 101500 102000 102500 103000
nu[3]
1500 -
1000 - |
508 : [ P ) J ~ s L
101000 101500 102000 102500 103000
omega[l,1]
101000 101500 102000 102500 103000
omega[2,1]

omega[3,1]
0.2-
0.1-
0.0-
-0.1-
_02 - 1 1 1 1 1
101000 101500 102000 102500 103000
omegal4,1]
101000 101500 102000 102500 103000

Iteration



value

omega[10,1]

0.1-
0.0-
-0.1-
-0.2- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[11,1]
0.5-
0.0-
-0.5-
101000 101500 102000 102500 103000
omega[l12,1]
0.2-
0.0-
-0.2-
-0.4- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[13,1]
0.2-
0.1-
0.0-
101I000 101I500 102I000 102I500 103I000
omega[14,1]
0.2-
0.0-
-0.2-
-0.4- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[5,1]
0.6-
0.4-
0.2-
0.0-
—02 = 1 1 1 1 1
101000 101500 102000 102500 103000
omega[6,1]
0.25-
0.00-
0.25-
0.50 -
101000 101500 102000 102500 103000
omega[7,1]
0.4-
0.2-
0.0-
-0.2-
101000 101500 102000 102500 103000
omega[8,1]
0.0-
-0.1-
_02 -
-0.3- 1 1 1 1 1
101000 101500 102000 102500 103000
omegal9,1]
0.0-
_02 -
-0.4-
101000 101500 102000 102500 103000

Iteration



value

omega[l,2]

0.1-
0.0-
-0.1-
_02 = 1 1 1 1 1
101000 101500 102000 102500 103000
omega[15,1]
0.0-
-0.2-
-0.4- ' 1 1 1 !
101000 101500 102000 102500 103000
omega[16,1]
101000 101500 102000 102500 103000
omega[l17,1]
0.0-
-0.2-
_04 - 1 1 1 1 1
101000 101500 102000 102500 103000
omegal2,2]
0.05-
0.00 -
-0.05-
-0.10-
101000 101500 102000 102500 103000
omega[3,2]
0.2-
0.1-
0.0-
-0.1-
101000 101500 102000 102500 103000
omegal4,2]
0.2-
0.0-
_02 -
_04 = 1 1 1 1 1
101000 101500 102000 102500 103000
omega[5,2]
0.2-
0.0-
-0.2-
-0.4- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[6,2]
0.4-
0.2-
0.0-
_02 L 1 1 1 1 1
101000 101500 102000 102500 103000
omegal7,2]
0.50-
0.25-
0.00-
-0.25-
101000 101500 102000 102500 103000

Iteration



omega[10,2]

101000 101500 102000 102500 103000

omega[11,2]

1.0-
0.5-
0.0-
101000 101500 102000 102500 103000
omega[l2,2]
0.25-
0.00-
-0.25 - : ' ' ' '
101000 101500 102000 102500 103000
omega[13,2]
101'000 101'500 102'000 102'500 103'000
omega[14,2]
0.4-
0.2-
0.0-
_02 = 1 1 1 1 1
101000 101500 102000 102500 103000
omega[15,2]
:% 3
0-
— 1 -
- 2 - 1 1 1 1 1
101000 101500 102000 102500 103000
omega[16,2]
0.2-
0.1-
0.0-
-0.1-
-0.2- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[l7,2]
0.3-
0.2-
0.1-
0.0-
-0.1- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[8,2]
0.15-
0.10-
0.05-
0.00-
-0.05 -
_010 - 1 1 1 1 1
101000 101500 102000 102500 103000
omegal9,2]
0.2-
0.0-
-0.2-
101000 101500 102000 102500 103000

Iteration



omega[l,3]

0.2-
0.1-
0.0-
-0.1-
101000 101500 102000 102500 103000
omega[10,3]
0.20-
ST PR | Aol
) - ) b ' | \ o 1 i { 5
0.05 - ! bl e '
000 - 1 1 1 1 1
101000 101500 102000 102500 103000
omega[2,3]
0.05-
0.00-
-0.05-
-0.10-
101000 101500 102000 102500 103000
omega[3,3]
0.2-
0.1-
0.0-
_01 .,
-0.2- 1 1 1 1 1
101000 101500 102000 102500 103000
omegal4,3]
0.2-
0.1-
0.0-
-0.1-
-0.2- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[5,3]
0.25-
0.00-
-0.25-
-0.50- ' ' ' '
101000 101500 102000 102500 103000
omega[6,3]
0.2-
0.0-
-0.2-
-0.4- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[7,3]
0.2-
0.0-
-0.2-
-0.4- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[8,3]
0.2-
0.1-
101000 101500 102000 102500 103000
omegal9,3]
0.6-
04- il , |, '
0.2- : e u |
0.0-

101000 101500 102000 102500 103000
Iteration



value

omega[11,3]

0.25-
0.00-
-0.25-
-0.50 -
101000 101500 102000 102500 103000
omega[12,3]
0.2-
0.1-
0.0-
-0.1-
_02 .,
101000 101500 102000 102500 103000
omega[13,3]
0.10-
0.05-
0.00 -
-0.05-
-0.10- 1 1 1 1 1
101000 101500 102000 102500 103000
omega[14,3]
0.2-
0.0-
-0.2-
101I000 101I500 102I000 102I500 103I000
omega[15,3]
0.3-
0.2-
0.1-
0.0-
-0.1-
101000 101500 102000 102500 103000
omega[16,3]
101I000 101I500 102I000 102I500 103I000
omega[17,3]
101000 101500 102000 102500 103000
sigma[1]
0.21-
0.18-
0.15-
0.12- 1 1 1 1 1
101000 101500 102000 102500 103000
sigma[2]
0.150 -
0.125-
0.100-
0.075-
101000 101500 102000 102500 103000
sigmal3]
0.18-
0.15-
0.12 -
0.09 -
101000 101500 102000 102500 103000

Iteration



value

sigma.omega[10]

0.6-

0.4-

0.2-

00 = 1 1 1 1 1
101000 101500 102000 102500 103000

sigma.omega[1]

0.4-

0.3-

0.2-

8%: i AT M ) LTI o M “hl'h "' \
101000 101500 102000 102500 103000

sigma.omega[2]

101I000 101I500 102I000 102I500 103I000
sigma.omega[4]
0.6 -
0.4-
02 I 1 u ‘ !
0.0- 1 I sl hll' e “ , - 1
101000 101500 102000 102500 103000
sigma.omega[5]
0.6-
0.4-
0.2-
0.0- 1 ’ i 1 S S ' 1 1
101000 101500 102000 102500 103000
sigma.omega[6]
0.6-
0.4-
0.2- ‘ \
0.0- 1 o : 1 = . » T ¥ o 1 B ' 1
101000 101500 102000 102500 103000
sigma.omega[8]
0.9-
0.6-
0.3-
00 = 1 1 1 1 1
101000 101500 102000 102500 103000
sigma.omegal9]
0.75-
0.50 -
0.25-
0.00- ' ' ' '
101000 101500 102000 102500 103000

Iteration



value

sigma.omega[11]

1.0-
0.5-
0.0- 1 1 T 1 ‘ v 1
101000 101500 102000 102500 103000
sigma.omega[12]
0.4-
0.3-
0.2-
0.1- i LT " :
0.0- v ; I ‘ ’ s 1 ‘ A s ‘ 1
101000 101500 102000 102500 103000
sigma.omega[13]
0.75-
0.50-
0.25-
0.00- ' ' ' '
101000 101500 102000 102500 103000
sigma.omega[14]
0.4-
0.2-
0.0- v ‘ T : ‘ : 1 I . 1 o 1
101000 101500 102000 102500 103000
sigma.omega[15]
0.4-
0.3-
0.2-
0.1- A\ ‘
0.0- aa . . ] : . ;
101000 101500 102000 102500 103000
sigma.omega[16]
0.5-
0.4-
0.3-
0.2-
0.1- ' s, A :
00- s ; s A ‘ s J ]
101000 101500 102000 102500 103000
sigma.omega[17]
0.5-
0.4-
0.3-
0.2-
0.1- : . , ‘ ,
00 = 1 1 1 1 1
101000 101500 102000 102500 103000

theta[1,1]

1
101000 101500 102000 102500 103000

101000 101500 102000 102500 103000
theta[3,1]

101000 101500 102000 102500 103000
Iteration



value

theta[10,1]

101000 101500 102000 102500 103000
theta[11,1]

101000 101500 102000 102500 103000
theta[12,1]

101000 101500 102000 102500 103000
theta[4,1]

101000 101500 102000 102500 103000
theta[5,1]

101000 101500 102000 102500 103000
theta[6,1]

101000 101500 102000 102500 103000

theta[7,1]
1y | I ] ] . l. 1 ! | ‘
o T '|,‘-'|Jl,r' it A AR TRy '«rrﬁx"lh‘l' F,
101I000 101I500 102I000 102I500 103IOOO
theta[8,1]

101000 101500 102000 102500 103000
theta[9,1]

101000 101500 102000 102500 103000
Iteration



value

theta[14,1]

0.6-
0.5-
0.4-
0.3-
0.2- 1 1 1 1 1
101000 101500 102000 102500 103000
theta[15,1]
0.6-
0.5-
0.4-
0.3-
02 = 1 1 1 1 1
101000 101500 102000 102500 103000
theta[16,1]
0.8-
0.6-
0.4-
1 1 1 1 1
101000 101500 102000 102500 103000
0.6 -
0.4-
0.2-
101000 101500 102000 102500 103000
theta[18,1]
0.7-
0.6-
0.5-
0.4-
1 1 1 1 1
101000 101500 102000 102500 103000
theta[19,1]
101000 101500 102000 102500 103000
theta[20,1]
0.4-
0.3-
0.2-
0.1-
0.0-

101000 101500 102000 102500 103000
theta[21,1]

1 1
101000 101500 102000 102500 103000

0.5-
0.4-
0.3-
0.2-
0.1- 1 1 1 1 1
101000 101500 102000 102500 103000
theta[23,1]
0.6-
0.4-
0.2-

101000 101500 102000 102500 103000
Iteration



value

0.8-

0.7- PI'

0.6- il
0.5-

0.4-

theta[24,1]

101500 102000
theta[25,1]

101500 102000
theta[26,1]

1
101500 102000

101500 102000
theta[28,1]

101500 102000
theta[29,1]

0 ‘I|t kel nrNb."rl"y"" i

101500 102000

theta[30,1]

101500 102000
theta[31,1]

101500 102000
theta[33,1]

101500 102000
Iteration

102500

102500

102500

102500

102500

102500

102500

103000

103000

103000

103000

103000

103000

103000



value

0.3-
0.2-
0.1-
0.0-

theta[1,2]

101000

101500

102000
theta[2,2]

102500

103000

101000

101500

102000
theta[3,2]

102500

103000

1
102000

102'000
theta[35,1]

102500

103000

102000
theta[36,1]

102500

103000

101500

102000
theta[37,1]

102000
theta[4,2]

102'000
theta[6,2]

102500

102500

103000

103000

101000

101500

102000
Iteration

102500

103000



value

theta[10,2]

101000 101500 102000 102500 103000
theta[11,2]

101000 101500 102000 102500 103000
theta[12,2]

0.4-
0.3-
0.2-
0.1-
101000 101500 102000 102500 103000
theta[14,2]
0.4-
0.3~
0.2-
0.1- 1 1 1 1 1
101000 101500 102000 102500 103000
theta[15,2]
0.4-
0.3-
0.2-
0.1-
00 = 1 1 1 1 1
101000 101500 102000 102500 103000
theta[16,2]
0.6-
0.4-
0.2-
101000 101500 102000 102500 103000
theta[7,2]
8'% - | " [ | i J
2 Jl “’ “H' i A ka1l IL U Kt o [ I ‘|l| 'I“I
§§_ "' " I J liv"’ "” “l”; H| | “'“" | y“‘ | *A'F! lLv F
101000 101500 102000 102500 103000
theta[8,2]
0.3-
0.2-
0.1-
00 = 1 1 1 1 1
101000 101500 102000 102500 103000
theta[9,2]
0.3-
0.2-
0.1-

101000 101500 102000 102500 103000
Iteration



value

theta[17,2]

é; i].,d o ‘l" ok 1l VIHLJI' “ﬂh' j I' '““”L, HJH. I Vu. "'.HL [l Wh-l-I‘-H 1

4
3

101000 101500 102000 102500 103000

theta[18,2]

101000 101500 102000 102500 103000
theta[19,2]

101000 101500 102000 102500 103000
theta[21,2]

101000 101500 102000 102500 103000
theta[22,2]

101000 101500 102000 102500 103000
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